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Lesson Title & Section #: 6-5 Social Security and Medicare

Lesson Essential Question: How do you compute

©
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Discussion: What are social security and medicare?
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Example 1
Ramiro got his first job in 2006. In that year, Social Security tax was 6.2% of

income up to $94,200. Medicare tax was 1.45%. If Ramiro earned $73,210 in 2006, how
much did he pay for Social Security and Medicare taxes?
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Lesson Title & Section #: 6-5 Social Security and Medicare
Example 2
Express the Social Security tax for 2006 as a piecewise function.
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Example 3
Graph the Social Security tax piecewise function from Example 2.
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Example 4
In 1988, Social Security tax was 7.51%, to the maximum income of $45,000. If

Grace earned $51,211 in 1988, how much Social Security did she pay?
51,211 7 15,000
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